

Product	Vendor Product #	Vendor	Weight of Commodity	Processing Fee/Case	Portions	Portion Size	Cost/Portion
			110244				
Cheese Pizza	15011	Wild Mike's SA Piazza & Associates	10.17	\$53.66	80	4.8 oz	\$0.67
Cheese Pizza	78637	Schwan's Food Service Inc	9.0	\$51.30	72	5.18 oz	\$0.71
Cheese Pizza	16WSRF C	Nardone's Bros.		\$47.57	64	5.38 oz	\$0.74
Turkey Pepperoni Pizza	78638	Schwan's Food Service Inc	7.2	\$55.53	72	5.18 oz	\$0.77
Turkey Pepperoni Pizza	16WSRF CTP2-WW	Nardone's Bros.		\$53.58	64	5.45 oz	\$0.84
Buffalo Chicken Pizza	78639	Schwan's Food Service Inc	7.59	\$55.12	72	5.18 oz	\$0.77
Buffalo Chicken Pizza	16WSRB C	Nardone's Bros.		\$52.48	64	4.85 oz	\$0.82
Four Meat Pizza	78640	Schwan's Food Service Inc	6.46	\$57.97	72	5.18 oz	\$0.81
Four Meat Pizza	16WSRF CME2	Nardone's Bros.		\$54.66	64	5.79 oz	\$0.85

**Award:** Pizza items awarded to Schwan's Food Service. Schwan's is the low price winner over Nardone's. Wild Mike's only bid cheese pizza. In a taste test of Wild Mike's and Schwan's, students preferred Schwan's.

Item	Number	Case Count	Cost per cs	Total
Cheese Pizza	78637	2500	\$51.30	\$128,250.00
Pepperoni Pizza	78638	2500	\$55.53	\$138,825.00
Buffalo Chicken Pizza	78639	1500	\$55.12	\$82,680.00
Four Meat Pizza	78640	1500	\$57.97	\$86,955.00
<b>Total</b>				<b>\$436,710.00</b>

RICHMOND COUNTY SCHOOL SYSTEM  
 RFP#23-141  
 COMMODITY PROCESSING 2023-2024  
 APRIL 18, 2023

**Commodity Processing 2023-2024**

**Pork 100193**

PORK ESTIMATED TOTAL COST \$25,600  
 NUTRITION SERVICES DEPARTMENT  
 ALL COMMODITY PROCESSING BUDGET \$905,000

Product	Vendor Product #	Vendor	\$Commodity Used/Case	Processing Fee/Case	Portions	Portion Size	Cost/Portion
Pork, BBQ, Low Sodium	12307	Brookwood Farms Inc	\$37.78	\$32.00	80	4 oz	\$0.40

**Award:** Pork BBQ awarded to Brookwood Farms Inc.

Item	Number	Case Count	Cost per cs	Total
Pork BBQ	12307	800	\$32.00	\$25,600.00
<b>Total</b>				<b>\$25,600.00</b>

RICHMOND COUNTY SCHOOL SYSTEM  
 RFP#23-141  
 COMMODITY PROCESSING 2023-2024  
 APRIL 18, 2018

**Commodity Processing 2023-2024**

POTATOES ESTIMATED TOTAL COST \$64,830  
 NUTRITION SERVICES DEPARTMENT  
 ALL COMMODITY PROCESSING BUDGET: \$905,000

**Bulk Potatoes 100506**

Product	Vendor Product #	Vendor	Weight of Commodity	Processing Fee/Case	Portions	Portion Size	Cost/Portion
Fries, Spiral Cut	1000004108	McCain Foods USA, Inc	43.64	\$28.45	177	2.63 oz	\$0.16
Fries, Crinkle Cut	1000007470	McCain Foods USA, Inc	54.55	\$35.26	224	3.0 oz	\$0.16

**Award:** All potato products awarded to McCain Foods.

Item	Number	Case Count	Cost per cs	Total
Spiral cut fries	1000004108	600	\$25.30	\$15,180.00
Crinkle cut fries	1000007470	1500	\$33.10	\$49,650.00
<b>Total</b>				<b>\$64,830.00</b>

RICHMOND COUNTY SCHOOL SYSTEM  
RFP #23-141  
COMMODITY PROCESSING 2023-2024  
APRIL 18, 2023

**Commodity Processing 2023-2024**

PEANUT BUTTER ESTIMATED TOTAL COST \$76,897  
NUTRITION SERVICES DEPARTMENT  
ALL COMMODITY PROCESSING BUDGET: \$905,000  
**Raw Shelled Peanuts 110700**

Product	Vendor Product #	Vendor	Weight of Commodity	Processing Fee/Case	Portions	Portion Size	Cost/Portion
Peanut Butter and Grape Jelly Sandwich	5150006960	Smucker Foodservice, Inc	4.46	\$44.06	72	2.6 oz	\$0.61
Peanut Butter and Strawberry Jelly Sandwich	5150006961	Smucker Foodservice, Inc	4.46	\$46.00	72	2.6 oz	\$0.64
Peanut Butter Cups	5150092100	Smucker Foodservice, Inc	7.4	\$32.79	120	1.1 oz	\$0.27

**Award: All peanut butter items awarded to Smuckers**

Item	Number	Case Count	Cost per cs	Total
PBJ Grape	5150006960	1000	\$44.06	\$44,060.00
PBJ Strawberry	5150006961	500	\$46.00	\$23,000.00
Peanut Butter Cups	5150092100	300	\$32.79	\$9,837.00
<b>Total</b>				<b>\$76,897.00</b>